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03 Al =2 THHI 10,000 10,000 0
OAIZ S THHI 10,000, 000& 10,000
HAERFX~2Fs2t T2HE 5,110,000 1,200,000 3,910,000
401 Al HIZ 201 I 5,110,000 1,200,000 3,910,000
01 A& HI 5,000,000 1,200,000 3,800,000
O S At 5,000,000, 000& 5,000,000
02 2eltl 100,000 0 100,000
OZeltl 100,000, 000& 100,000
03 AIE 2 THHI 10,000 0 10,000
OAIE =2 HHI 10,000, 000& 10,000
ZHLEIC=UHZ2 S 2L 4,780,000 0 4,780,000
401 Al HIZ 201 8] 4,780,000 0 4,780,000
01 A& HI 4,770,000 0 4,770,000
O &4l 4,770,000,000& 4,770,000
03 Al 2 0HHI 10,000 0 10,000
OAIZ S THHI 10,000, 000& 10,000
=sas-lH=s2 E2HE 6,070,000 655,000 5,415,000
401 A& HIZ 201 I 6,070,000 655,000 5,415,000
01 A& Bl 6,060,000 655,000 5,405,000
OB 4| 6,060,000, 000& 6,060,000
03 Al S THHI 10,000 0 10,000
OAIZ 2 HHI 10,000, 000& 10,000




SH: 2
AN CRY 5
@ NeYE 2 IEe2 HE(2CHHEXNFTHALASAMEELE I A) (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
sz T2 Z2A 2,830,000 0 2,830,000
401 Al HI L 20 HI 2,830,000 0 2,830,000
01 Al&HI 2,820,000 0 2,820,000
(@)==F 3] 2,820,000,000& 2,820,000
03 Al& 201l 10,000 0 10,000
OAl& 20| 10,000,000& 10,000
=5 T2-22656 T 2HE 2,650,000 0 2,650,000
403 XtXISHH S K201 2,650,000 0 2,650,000
01 HXISH 2L 2,650,000 0 2,650,000
O=223s 222656 T 2HE
2,650,000,000& 2,650,000
T2 JHl ¥ 22 1,620,000 2,719,529 A 1,099,529
oINS T2 XH(LZHMEXNFBINYGEAHAMNLE 1,350,000 2,539,529 A 1,189,529
23 AH)
A DNIIW F=H WSAsS HEAMY 580,000 0 580,000
401 Al HIL 201 580,000 0 580,000
01 Al&HI 580,000 0 580,000
og9y| 580,000,000& 580,000
M7 AEXEALCT BHSHE IHH ALY 170,000 0 170,000
403 IR HHS K201 A 170,000 0 170,000
01 UXESHK=LF 170,000 0 170,000
OB = &HIAIY 170,000, 000& 170,000
(M) HME R =HXY ST Z2EAIE S & XA 100,000 0 100,000
=
403 X SHMS K201 A 100,000 0 100,000
01 HXISHH A =2 X 100,000 0 100,000
Oz AN&E2 &X 100,000, 000& 100,000
(M37)P S REHZIAIE RE T2 HH|Z2 A 500,000 0 500,000
403 ItXIHAMSA201 A 500,000 0 500,000
01 USRI =L S 500,000 0 500,000
O 2 HH| S Al 500,000, 000& 500,000
JI2SE HUH(ZSHMNEXNFTHXNASHIMEESE I AH) 270,000 180,000 90,000
(HE)EEZ =H L5 Bots DA Z2A 100,000 80,000 20,000
403 ItXISHXM S K201 100,000 80,000 20,000
01 AIXISHMA2E X 100,000 80,000 20,000
OBoEsS WM SA 100,000,000 100,000
(H)ot22d 22 JI2S HUIZ2A 70,000 100,000 A 30,000
403 ItXISH M S K201 70,000 100,000 A 30,000




SH: 2
Y o2 HHl & 22
G2l JIZ2S HH(SZANEXNFTHINGSANLES LS H)

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 XXM A2E = 70,000 100,000 A 30,000
OJ2E HHISA 70,000,000& 70,000
(M?)Eg2ds 2005 FUISA 100,000 0 100,000
403 XAtXISH M S K201 A 100,000 0 100,000
01 XM A=2EE 100,000 0 100,000
OLets FEHlISA 100,000, 000& 100,000




20208 & 20

AF

e
EOELIE
R ETE-E N N EEWEEE S EEED

& =AM X=X

SA - BB (3) - NRAL - B il 52
=X &M 600,000 600,000
=XE=Z ALY 600,000 600,000
SNEE (NS NFHANASBMNLSEIA) 600,000 600,000
=XNx4 600,000 600,000
403 MtXISHHE X201 & 600,000 600,000
01 XEXISHAI K2 2 = 600,000 600,000

OsdZx=4 (224 2I44H) 600,000,000 600,000




= o
N £ 0 & 2 E M A
20209 & 20a =EHMHSBRANFHEHXAEZNLSEA A
SN BRESD
B RASNZLALY
Sl ATANTN L FHSIWL (LAWY XTSI Y SEER)) CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ST LD 11,400,000 2,590,500 8,809,500
SR=XNZEAY 11,400,000 2,590,500 8,809,500
+CHMNBX L =HBZHL(SHNWE XN FBHI L 11,400,000 2,590,500 8,809,500
FMEEL3IAH)
dEH15s33 =4 3,400,000 0 3,400,000
401 Al HI K 201 I 3,400,000 0 3,400,000
01 A& HI 3,400,000 0 3,400,000
Ode15533 Y 3,400,000, 000& 3,400,000
X SHH S X E A 8,000,000 2,590,500 5,409,500
403 MtXISHH S =0l & 8,000,000 2,590,500 5,409,500
01 XM A2E X 8,000,000 2,590,500 5,409,500
OdeH17a33 x4 7,100,000, 000& 7,100,000
OZct=HMEA otdE MEZ ZAAEY
500,000, 000& 500,000
O 0IS& A 300,000, 000& 300,000
ONSUEBY Z7F FUIMY
100,000, 000& 100,000




